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36.06 = 6

® 6.01 +6 = 36.06
@6.01 x 6 = 36.06
® 601 x6 = 36.06

@ 6.01 -6 = 36.06

@ 60.1 x 6 = 36.06
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36.06 ~ 6 = 6.01

U A7E0 1 WA o AAtA
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(Aot 2™ Ad)

=100 x 2+(¥F2]5°] Tm¢l Yo} ¥F)

=200 + (14 x 3.14) = 200 + 43.96 = 243.96( m)
(Aol 2 A)

=100 x 2+(¥FA]F°] 5m<l Ao AF)

= 200 + (10 x 3.14) = 200 + 31.4 = 231.4(m)
(2707t ¥ Aot Aozt 2 A= 7
= 243.96 4 231.4 = 475.36( m)
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=02,5 =05 ol T 2 Atele] A7E 0.5-02 =
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0.3(km)
10 S8 39 0.3 = 10 = 0.03(km) O] 22 Ab3} LFRE o] A
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25. A7y nz2vd Yole 54.34m? o], F =v 9 Zo|= 76
1.9 !

(A4 1= #9)

= (49 29 Hol)x2+ (EH)

= 54.34x 2+ 7.6 = 108.68 + 7.6 = 14.3(m)

AP L e gole AP =2 golot 2, ¥
c o] dol=H 1L=22] Zo]9] 1.9 He|]EE, ¥ L =9 A9
7.6 +1.9 = 4(m) Yt}

oA A4 L a9 Yole

4x14.3 +2 = 28.6(m?) YYrtt.
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Yol A7t 1L =9] Yolo 1.9 iyt

o
2H
wEbA AZHy TL =9 go
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